BEAD GEXEF - BTTH5)

Lf6F I AR
;1) X % # F K A ! % %
B 7 & o X 6,818 13,274 6,948 6,326
X B # K 1,195 2,848 1,399 |,449
£ P # K 553 |,404 702 702
N RO K 1,00 2,613 1,323 1,290
Bl £ # K 7,087 1 4,900 7,284 7,616
N | R # K 1,294 3,070 1,498 1,572
it XX M # K 1,04 2,433 1,204 1,229
it &8 & b K 7,956 18,534 8,862 9,672
B » B # X 6,476 16,136 8,076 8,060
& 5 33,421 75,212 37,296 37,916
Lf6F | AR
w K A& BT T % it F A ! 5 54
BE 7 i X BE 7 1B T A 4,569 9,215 4,630 4,585
¥ FB H 185 336 182 | 54
® 8 423 817 430 387
£ L L H 753 1,327 840 487
g R H 308 527 288 239
53 i} 580 1,052 578 474
#H K3 6,818 13,274 6,948 6,326
A E 1 K £ B H 88 205 102 103
N & H 825 1,958 956 1,002
E % 143 347 171 176
+ K 1% #7 6T 139 338 170 168
#H K3 1,195 2,848 1,399 1,449
k P # K ® B H 138 344 178 166
& fF 17 38 16 22
£ @\ H 125 400 185 215
& & H qq 220 105 115
R H 108 248 138 110
K E 66 | 54 80 T4
#H K3 553 |,404 702 702
N RO X N H 177 402 205 197
nOR 145 393 197 196
7 PR HT 34 79 36 43
B R ¥ g 478 1,315 677 638
& A& 65 175 83 q2
Z ij) 102 249 125 | 24
#H K3 1,001 2,613 1,323 1,290
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BEAD GEXEF - BTTH5)

2f6E B R
X £ Bq T 4 it FEH A = L2 53
Bl % 2 X Bl K H 636 1,516 734 782
P9 & %7 @ BT | 2 2 0
A 1 HT 165 412 196 216
B R B 739 1,637 802 835
& & 960 2,165 1,015 1,150
Bl % H 10| 391 |54 237
= & 1,942 3,922 1,954 1,968
B | TH 239 426 220 206
8 2 TEH 456 887 440 447
8 3 TH 494 812 41 | 401
8 4 TH 748 1,384 695 689
M M H | 27 15 | 2
NGB OFE A HT 435 q21 457 464
JE 5% 4 %7 |8 BT |7 4| 17 24
Nl HT 143 357 172 185
#H X 7,087 1 4,900 7,284 7,616
N R R X R AR E 1,294 3,070 1,498 1,572
#H X3 1,294 3,070 1,498 1,572
b X R X & ¢ H 71 224 119 105
& 7 #7 @ T 64 155 76 79
‘A BE YR E] 106 252 122 130
g @\ f 6| 145 75 70
it /H  H 73 190 q0 100
N B 31 83 43 40
& ‘A 67 179 ql 88
X 8B 6 16 7 q
BAaa | TH 89 186 a8 88
BAaE2TH ql 199 q3 106
B a3 TH 104 205 100 105
BANE4TH 137 306 146 160
My ES5TH 55 118 57 6|
BN E6TH 86 175 87 88
#H X 1,041 2,433 1,204 1,229
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BEAD GEXEF - BTTH5)

Lf6F I AR
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 185 400 193 207
EWL2TEH 193 45| 212 239
EWw 3 TEH 172 386 199 187
Bl 4 TEH 335 851 366 485
EWL5TEH 273 611 286 325
EWL 6 TEH 286 676 339 337
EWL7TEH 233 581 284 297
EWL 8 TEH 273 609 307 302
WwWE I TEH 443 930 432 498
WwWE2TEH 130 335 162 173
¥ 3ITBAE 235 523 268 255
WwWE4TEH 155 361 171 190
WwES5TH 249 565 271 294
WwW¥E 6 TBH 267 611 282 329
NI T B 27 6l 30 31
N2 T H 353 909 45| 458
N3 TEH 186 415 217 198
NS 4 T B 568 1,177 534 643
T& 1 TH 209 479 230 249
& 2T7TEH 233 570 269 301
& 3TEH 14| 331 176 155
T & 4T7TEH 272 685 330 355
&5 T7TH 196 445 195 250
BRE I TH 199 502 244 258
BHRE2TH 208 576 278 298
BHRE3TE 73 197 94 103
wHRE4TH 213 452 207 245
BHRES5TE 289 752 347 405
Afx& | TH 162 405 203 202
A& 2TH 169 408 206 202
A& 3TH 357 808 396 412
Afr& 4 TH 672 1,472 683 789
o X E 7,956 18,534 8,862 9,672
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BEAD GBXF - BTT )

Lf6F I AR
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 168 788 528 260
Bk BE2TH |64 413 209 204
By A3 TH 208 477 245 232
o R4 TH 287 760 362 398
B4y A5 TH 341 828 387 44
By 6TH 330 933 472 461
o BET7TH 423 131 579 552
W/ AW TH 293 716 330 386
W/ W2TH 236 580 28| 299
W/ N3TEHE 377 987 472 515
W/ W4TH 309 788 375 413
W/ W5TH 280 723 365 358
wr e TH 534 1,133 570 563
WworBE2TH 45| 983 48| 502
WwWor B3 T8 359 1,013 511 502
Wwor B 4TE 313 533 269 264
= I = 280 727 367 360
B3 2TB8 459 1,050 534 516
B3R 3TA8 317 768 387 381
B3 4TH 328 616 292 324
B | TH | 143 39 104
v B 3 T8 18 46 21 25
# K F 6,476 16,136 8,076 8,060
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